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T 21(20) 2 & — N 9:30 R % 20(19) AKX — R 11:20
P23 i ESR= 2T T A P23 B ESR= VAV
AH—bF/T 4=y a R 0°C / 0C AHF—bF/T 4=y a R 2°C / 3C
F:
NEAL  Ag—] =N EEHEE 1K 2A&AH & 7 V—x
No No K4 B 4 gt B 4 BE R BE R Hif Ak
1 1 Wl 32 P a =71 — 2 4050 39.30 1:19.80
2 2 oK FiT HRE X% —AR—/ 45.40 44.30 1:29.70
3 3 HE =R P a =71 — 2 46.60 4590 1:32.50
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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DATA PROCESSING by SE I KO

TIMING by SETI KO
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AB—K/T7 4=y v 2Rk 0°C / 2C AHF—bF/T 4=y a R 0°C / 0C
F=720
IEAL AF—} =N EEHEE - 1AKH 2AKH H F L—2A
No No K4 B 4 gt B 4 S <7 N | = 17 N | = 155 B N GV N
122 1388 &Il K&/ KRR AR — > ] 3420 33.40 1:07.60 0.00
1 21 1389  [[AHE 2= IR A R — > 7] 33.50 34.10 1:07.60 0.00
3 24 1418 &k kX HRAT 2 % — 2 R—> 37.50 36.40 1:13.90 67.10
4 23 1400 2 fHis IR AR — 7 D4R 39.80 38.80 1:18.60 117.16
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
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DATA PROCESSING by SE I KO

TIMING by SETI KO
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DISQUALIFIED [2nd RUN] 0
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DATA PROCESSING by SE I KO TIMING by SETI KO
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T 21(20) 2 & — N 9:30 R % 20(19) AKX — R 11:20
P23 i ESR= 2T T A P23 £ ESR= VAV
AH—bF/T 4=y a R 0°C / 0C AHF—bF/T 4=y a R 2°C / 3C
F:
NEAE Ap=} =N EEHEE 1K 2A&AH & 7 V—x
No No K4 B 4 gt B 4 BE R BE R Hif Ak
1 10 (5P E Y IR A R — > 7] 37.40 38.10 1:15.50
2 11 B — KRR AR — Y R 38.80 37.90 1:16.70
3 9 KBk i B a=71L—3 2 40.10 39.60 1:19.70
4 7 Rl B oz L—v s 40.80 39.70 1:20.50
5 6 mE 2 AT L—3 ) 45.50 43.60 1:29.10
6 8 PG REE HRET R % — 2 R— 7 46.60 46.70 1:33.30
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
2015-01-25 / AR A ¥ —15 G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETI KO
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DID NOT FINISH [2nd RUN]

DISQUALIFIED [2nd RUN]

5 B
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GATE No. 5, JHMidiH

DATA PROCESSING by SE I KO

G8/ 2
TIMING by SETI KO
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PRV EH Hi
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AiEHE - A - AR Eﬁ%%‘ - A - AR
AiEHE - B - HE RiEH - B - HE
T 21(20) A K — K IRERH 9:30 T2 20(19) A K — R 11:20
KA HAL ES-Y T4 T A KA HAL =8 VAZAN
AB—K/T7 4=y v 2Rk 0°C / 0C AHF—bF/T 4=y a R 2°C / 3C
F=720
NEAL A%=] =N EEHEE - 1K 2A&AH & 7 V—x
No No K4 B 4 R R FE R Héf B RA b
1 51 R TR IR 31.80 32.50 1:04.30 0.00
2 34 3429 & W KR A R — > 7] 32.90 33.10 1:06.00 19.04
3 31 3383  f@ME SRR T —F 2 AR 33.40 33.40 1:06.80 27.99
4 32 3397 = OOb ozl — 7 34.30 33.20 1:07.50 35.83
5 36 3408 KBk P a =71 — 2 35.40 3430 1:09.70 60.47
6 38 3409 KIF & B a=71L—3 2 35.30 35.20 1:10.50 69.42
7 33 3400 B EXHM KRR AR — D4 35.70 3490 1:10.60 70.54
8 37 3419 B HKERR Mmooz —v s 35.60 35.30 1:10.90 73.90
9 40 3439 A HEKED oz L— ) 36.00 3510 1:11.10 76.14
10 41 3431 B O KHE 77 < & STEGER 37.20 3550 1:12.70 94.06
11 50 2083  HH(l HRAE MY 2 =71 —3 36.70 36.20 1:12.90 96.30
12 45 3435 HTE K HRE A% —AR—/ 37.30 36.20 1:13.50 103.02
13 49 3466  FE AT L—3 ) 37.50 36.20 1:13.70 105.26
14 43 3434  JEED A 77 < & STEGER 38.40 37.20 1:15.60 126.53
15 48 3481 B wME ozl — 7 38.30 38.30 1:16.60 137.73
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DATA PROCESSING by SE I KO

TIMING by SETI KO
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F=720
NEAL Ag—] a-§ BEHE - 1K 2A&AH & 7 V—x
No No K4 Fr B 4 BE R B R B R RAU b
15 47 3487  EME WK HEAT 2 — 2 R—>/ 38.40 38.20 1:16.60 137.73
17 46 3453 AR IR HEAT 2 — 2R —>/ 39.50 39.50 1:19.00 164.60
18 52 TEiE A =BT A X —AR—Y 41.30 4150 1:22.80 207.15
19 55 HA (53 =BT A X —AR—Y 49.40 48.70 1:38.10 378.48
DID NOT START [1st RUN]
39 3438 K[ EEZE oz l— 7
DID NOT FINISH [1st RUN]
42 3388 HE thifF H BT R % — 2R —2 /]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
44 3454 B EA By =7 L —v
DISQUALIFIED [2nd RUN]
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DATA PROCESSING by SE I KO

TIMING by SETI KO
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T 21(20) 2 & — N 9:30 R % 20(19) AKX — R 11:20
KA HAL ES-Y T4 T A KA E =8 VAZAN
AB—K/T7 4=y v 2Rk 0°C / 2C AHF—bF/T 4=y a R 0°C / 0C
F=720
JIEAE AB=] =N EEHEE 1AKH 2AKH H F L—2A
No No K4 B 4 gt B 4 S <7 N | = 17 N | = 155 B N GV N
1 25 1343 A& EW E% 5 =R 33.60 33.10 1:06.70 0.00
2 26 1363 & EH IR A R — > /4] 33.60 33.90 1:07.50 8.64
3 27 1332 @i FEA BTN A F— AR — 34.10 34.30 1:08.40 18.35
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2015-01-25 / AR A ¥ —15 GLS / 1

DATA PROCESSING by SE I KO

TIMING by SETI KO



T 4=y alD 1 04

NEAL Ap= -h B - SAJ EAZ5 L=
No No K4 JI28 i KA HAE KA B
1 25 1343 A% EHiR BEL I =R 83. 49 83. 49 0. 00
2 26 1363 2 EH KRR A TR — /AR ] 117.29 117.29 8. 64
3 22 1388 kI &K/ IR AR — > 4R 187. 57 187. 57 9.72
3 21 1389 A HE 2= IR A R — > /AR 163. 48 163. 48 9.72
5 27 1332 &M ZFEAE LGN A F— R R — 122.75 122.75 18. 35
6 24 1418 &k Sk HEET 2 — 2R —
7 23 1400 & fHis IR A R — Y /AR 342. 40
A K — NEFEEOD AL S 4
Wit Ap-) =N B - SAJ
AEER No No K4 JI28 i RA v b
1 25 1343 A% EHiR EL I =R 83. 49
2 26 1363 2 £ FRRA R — DA 117. 29
5 21 1332 faih  ZEA BN A 26— AR — 122.75
3021 1389 B[AH: 78 RN AR — DA 163. 48
3022 1388 &Il KFE TRRA R —> DA 187. 57
INZ
=R
AR — FEFEORA b ENS 4 (B) 674. 58
T4 = aEO 1 0L DRA L N Efr54 (A) 674. 58
HWMBRTOL—AFA 2+ (0 46. 43
_FPNT 4 FE (AB-C) /10=> 130. 273
W EEETIN 130. 27
o NS T 4 FHEAE 130. 27
2T NI T 4 X 1. 44 (MAX40) 170. 27
S=v AT 4 62. 51
< 7 AT T 200. 00
WHT LT 4 170. 27
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DATA PROCESSING by SE I KO

TIMING by SETI KO
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AB—K/T7 4=y v 2Rk 0°C / 2C AHF—bF/T 4=y a R 0°C / 0C
F=720
NEAE Ap=} =N EEHEE - 1K 2A&AH & 7 V—x
No No K4 128 T B 4 B BE R B M A1 b
1 25 1343 A& EW E% 5 =R 33.60 33.10 1:06.70 0.00
2 26 1363 & EH IR A R — > /4] 33.60 33.90 1:07.50 8.64
3 22 1388 &Il K&/ KRR AR — Y R 3420 33.40 1:07.60 9.72
3 21 1389 A HE 2= IR AR — 7 D4R 33.50 34.10 1:07.60 9.72
5 27 1332 @it FEA BTN A F— AR — 34.10 34.30 1:08.40 18.35
6 24 1418  #K R Z % — 2 R— 3750 36.40 1:13.90 77.72
7 23 1400 2 fHiss IR A R — > 7] 39.80 38.80 1:18.60 128.46
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
2015-01-25 / AR A ¥ —15 GLS / 1

DATA PROCESSING by SE I KO

TIMING by SETI KO
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No No K4 B 4 gt B 4 S 1< N | = 17 N | = 155 B O GV N
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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DATA PROCESSING by SE I KO TIMING by SETI KO
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T 21(20) A K — K IRERH - 9:30 T2 20(19) A K — R 11:20
KA HAL EEL =] T4 T A KA HAL =8 VAZAN
AB—K/T7 4=y v 2Rk 0°C / 0C AHF—bF/T 4=y a R 2°C / 3C
F=720
NEAL A%=] =N EEHEE - 1K 2A&AH & 7 V—x
No No K4 B 4 Re R B R B ORI AAb
1 56 3287 JIIX P oz —v s 32.00 31.80 1:03.80 0.00
2 59 3331 &K ¥ HRAT 2 2% — 2R —> /] 33.00 33.10 1:06.10 25.96
3 57 3313 K& gEF FEHASSCT 1 34.00 32.30 1:06.30 28.21
4 58 3337 HE A8 ElY a2 =71 — 33.60 32.80 1:06.40 29.34
5 66 I Ty NSB =D a =T 34.20 32.50 1:06.70 32.73
6 63 3373 KR A& KER Mmooz L—v s 33.80 33.90 1:07.70 44.01
7 61 3341 FE B B a =71 —3 34.90 34.00 1:08.90 57.55
8 60 3362 IHTE EA Ml 2=7 L — 35.50 34.40 1:09.90 68.84
9 65 3370 EZxR 22 HEAT 2 — 2R —>/ 35.90 34.80 1:10.70 77.87
10 62 3364 HH K B¥HUUEL — > 7 41.90 3490 1:16.80 146.71
11 64 3375 SEEP KRR MY 2 =71 —3 43.80 36.40 1:20.20 185.08
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
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TIMING by SETI KO
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No No K4 Fr B 4 B | B M AL b
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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DATA PROCESSING by SE I KO TIMING by SETI KO
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AiE#E - B - HE 4% HiEH - B - HE 4%
T 21(20) 2 & — N 9:30 TP % 20(19) AKX — R 11:20
KA HAL ES-Y 2T 4T A KA i =8 VAZAN
AH—bF/T 4=y a R 0°C / 0C A=K/ T 4= a2 TIR 2°C / 3C
F=720

NEAZ 25—} =b BiEE

No No K4

171 3486 FEH  HET]
2 73 2055  FE fE

DID NOT START [1st RUN]
DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]

2015-01-25 / AR A% —3F

roJ& 4

{RBT A —F— L

0

\;

1AH 2K # & Lb—2
15 5 R 15 5 R L 15 M AP AV

32.80 33.70 1:06.50 0.00
34.30 33.10 1:07.40 9.74
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DATA PROCESSING by SE I KO

TIMING by SETI KO
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AiEHE - B - HE AiEHE - B - HE
T 21(20) A K — K IRERH - 9:30 T2 20(19) A K — R 11:20
KA HAL ES-Y T4 T A KA HAL =8 VAZAN
AB—K/T7 4=y v 2Rk 0°C / 0C AHF—bF/T 4=y a R 2°C / 3C
F=720
NEAL  Ag—] =N EEHEE 1K 2A&AH & 7 V—x
No No K4 T B 4 BE R B R B R RAU b
1 70 wiE = EEE 2 — XA - 38.50 36.30 1:14.80 0.00
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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DATA PROCESSING by SE I KO

TIMING by SETI KO
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AiE#E - B - HE 4% HiEH - B - HE 4%
T 21(20) A K — K IRERH 9:30 T2 20(19) A B — S 11:20
KA HAL ES-Y 2T 4T A KA =8 VAZAN
AH—bF/T 4=y a R 0°C / 0C A=K/ T 4= a2 TIR 2°C / 3C
F=720

NEAL A%=] -b EE
No No K4

1 30 3098 ZEAE IR

DID NOT START [1st RUN]
DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]

2015-01-25 / AR A% —3F

B 4
HRET X 2 —F— A

1AH 2K # & Lb—2
15 5 R 15 5 R L 15 M AP AV

37.00 3420 1:11.20 0.00
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DATA PROCESSING by SE I KO

TIMING by SETI KO
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JEE R % 21(20) AL — NI 9130 JEM$% 20(19) A B — NI 11:20
P23 i ES-Y 2TAT A P23 i g VAZEN
AB—K/T7 4=y v 2Rk 0°C / 0C AHF—bF/T 4=y a R 2°C / 3C
F=720
IEAL AF—} =N EEHEE 1AKH 2AKH H F L—2A
No No K4 T B 4 BE R B R B R RAU b
1 12 3129 SR F— BT R —AR— 36.20 36.20 1:12.40 0.00
2 13 3130 =AM = —BH A% — AR—Y 37.20 35.60 1:12.80 3.98
3 18 B A —2 57 37.60 3580 1:13.40 9.94
417 2 WE IRZEH R T 41.10 38.60 1:19.70 72.60
5 14 502 &R FEFH] BB~ 2 — XA X~ 41.90 39.00 1:20.90 84.53
6 15 504 MIWE  hk BB A — XA X~ 41.80 39.50 1:21.30 88.51
7 16 3002 HA Sk HENAX—2 FF 4710  47.00 1:34.10 215.80
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
2015-01-25 / AR A ¥ —15 GM8 / 1

DATA PROCESSING by SE I KO

TIMING by SETI KO
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DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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DATA PROCESSING by SE I KO TIMING by SETI KO



BT KAl
RFNVT 4 —RA v PEHEE

T 4=y alD 1 04

NEAE Ap=} a-§ EEHEE SA]J iz 5 L—2
No No K4 R 4 A FAE FAUE
1 56 3287 JIIX DA oz b— 76. 06 76. 06 0. 00
2 51 FlE LR WRIR
3 34 3429 & W IR A R — > /AR 163. 20
4 59 3331 &K HRHAT R % — 2R —/ 128. 23 128. 23 25. 96
5 57 3313 kK@ BEF FEHGSCT 1 81. 46 81. 46 28. 21
6 58 3337 HE XE B 2 =T L—3 114. 06 114. 06 29. 34
771 3486  FAk FHEF] HRHT A % —F— A
8 66 I Ty INSBE =T a=T
9 31 3383 R BEAER T —F a2 AF—Y 120. 06 120. 06 33. 86
10 73 2055  FE fE HRAX—F— A
A K — NEFEED AL S 4
Wit Ap-) =N B - SAJ
AEER No No K4 R 4 RA v b
1 56 3287 JIX A oz lb— v 76. 06
5 57 3313 K& FEE ¥ ARSCT r 81. 46
6 58 3337 HE 4% Y 2 =T L —3 114. 06
9 31 3383 @M SRR TH—F 2 AR— 120. 06
4 59 3331 &K ¥ HRHET R % — AR — /) 128. 23
At
AR — FEFEORA M ENS5 4 (B) 519. 87
T4 =y aEO 1 0L DRA L N Efr54 (A) 519. 87
HUWBRTOL—AFA 2+ (0 117.37
RFPNT 4 FHE (AB-C) /10=> 92. 237
W EEETIN 92. 24
NS T 4 FHEAE 92. 24
BT LT ILT ¢ X 1. 44 (MAX40) 132. 24
= AT 4 62. 51
< 7 AT T 200. 00
AT VT 132. 24
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DATA PROCESSING by SE I KO

TIMING by SETI KO



HFa2b HEEHMHRGS K
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B KAl
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4 410m
& RKEHE 33%
T5E 2 B
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A K — N1 b < i
PRV EH Hi
1AH 2 KB
aA— ATy H— g a— ATy H— ETF
AiEHE - A - AR @%%‘ - A - AR
AiEHE - B - HE RiEH - B - HE
T 21(20) A K — K IRERH - 9:30 T2 20(19) A K — R 11:20
KA HAL EEL =] T4 T A KA HAL =8 VAZAN
AB—K/T7 4=y v 2Rk 0°C / 0C AHF—bF/T 4=y a R 2°C / 3C
F=720
NEAL A%=] =N EEHEE - 1K 2A&AH & 7 V—x
No No K4 B 4 Re R B R B ORI AAb
1 56 3287 JIIX P oz —v s 32.00 31.80 1:03.80 0.00
2 51 B FiE IR 31.80 32.50 1:04.30 5.64
3 34 3429 & W IR A R — > 7] 32.90 33.10 1:06.00 24.83
4 59 3331 A A HEAT 2 — 2R —/ 33.00 33.10 1:06.10 25.96
5 57 3313 K& g FEHASSCT 1 34.00 32.30 1:06.30 28.21
6 58 3337 HE A8 ElY a2 =71 — 33.60 32.80 1:06.40 29.34
771 3486 MR FHEW] HEAT 2 —F— A 32.80 33.70 1:06.50 30.47
8 66 I Ty INSBE—=D a2 =T 34.20 32.50 1:06.70 32.73
9 31 3383  f@ME  BEAKRER T —F 2 AR 33.40 33.40 1:06.80 33.86
10 73 2055 IE fE AR A¥x—F—L4 34.30 33.10 1:07.40 40.63
11 32 3397 = Ob ozl — 7 34.30 33.20 1:07.50 41.76
12 63 3373 KR A& KER Mmooz L—v s 33.80 33.90 1:07.70 44.01
13 61 3341 FE B B a =71 —3 34.90 34.00 1:08.90 57.55
14 36 3408 KBk P a =71 — 2 35.40 3430 1:09.70 66.58
15 60 3362 IHTE EA Ml 2=7 L — 35.50 34.40 1:09.90 68.84
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HF4 2B HEEHMARGS K
LT ST)
F=720
JERE  AR=} a-§ BEHE 1K 2A&AH & 7 V—x
No No K4 B 4 1 LT 155 I i N GV
16 38 3409 KIF & Ml 2=7L— 35.30 35.20 1:10.50 75.61
17 33 3400 B EXKH KRR AR — D 4EH] 35.70 3490 1:10.60 76.74
18 65 3370 EZxR 22 HEAT 2 — 2R —/ 35.90 34.80 1:10.70 77.87
19 37 3419 B HKERR oz L—v s 35.60 35.30 1:10.90 80.13
20 40 3439 FE KRR Mmooz —v s 36.00 35.10 1:11.10 82.38
21 30 3098 ZEiE A HEAT 2 —F— A 37.00 3420 1:11.20 83.51
22 12 3129 FrAk FE— =BT A X —AR—Y 36.20 36.20 1:12.40 97.05
23 41 3431 B O KHE 77 < & STEGER 37.20 3550 1:12.70 100.44
24 13 3130 fEAM & —EBH A% — A R—Y 37.20 35.60 1:12.80 101.57
25 50 2083  HH(l HRAE Y 2 =71 —3 36.70 36.20 1:12.90 102.70
26 18 B P2 x—2r 57 37.60 35.80 1:13.40 108.34
27 45 3435 HE KB HRAT 2 2% — 2R —> /] 37.30 36.20 1:13.50 109.47
28 49 3466 wE  Hl AT L—3 ) 37.50 36.20 1:13.70 111.72
29 70 wiE = EEE~ 2 Z— XA % 38.50 36.30 1:14.80 124.14
30 43 3434 JEES R 77 < & STEGER 38.40 37.20 1:15.60 133.17
31 48 3481 B wM ozl — 7 38.30 38.30 1:16.60 144.45
31 47 3487  mEME R HRAT 2 2% — 2R —> /] 38.40 38.20 1:16.60 144.45
33 62 3364 HHH K HB¥HUUEL — > 7 41.90 3490 1:16.80 146.71
34 46 3453 AR I HRAT 2 2% — 2R —> /] 39.50 39.50 1:19.00 171.54
35 17 B RE IRZEHE R T 41.10 38.60 1:19.70 179.44
36 64 3375 SEEP KRR MY 2 =71 —3 43.80 36.40 1:20.20 185.08
37 14 502  #K FEF] BB A — XA X~ 41.90 39.00 1:20.90 192.98
38 15 504 MBSk BB A — XA X~ 41.80 39.50 1:21.30 197.49
39 52 TEiE A =BT A X —AR—Y 41.30 4150 1:22.80 214.42
40 16 3002 A Gk BENAX—2 FF 47.10 47.00 1:34.10 341.94
41 55 HA (53 =BT A X —AR—Y 49.40 48.70 1:38.10 387.08
DID NOT START [1st RUN] 1
39 3438 KRR EEZE oz l— 7
DID NOT FINISH [1st RUN] 1
42 3388 HE thifF HRE A% — A R—/
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 1
44 3454 B E|AE M 2 =7 L—
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DATA PROCESSING by SE I KO

TIMING by SETI KO



i e IR LT
F=720
NEAL Ag—] a-§ BEHE 14AH 2AKH & #H 1—X
No No K4 Fr B 4 B | B M AL b
DISQUALIFIED [2nd RUN] 0
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